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narjmWu H$moS >H$mo CÎma-nwpñVH$m Ho$ _wI-n¥ð 
>na Adí` {bIo§ & 
Candidates must write the Code on the 

title page of the answer-book. 

  H$moS> Z§.      

 Code No. 

amob Z§. 
Roll No. 

 

 

 

 ZmoQ>  NOTE 

(I) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV 
n¥ð> 11 h¢ &  

(I) Please check that this question 

paper contains 11 printed pages. 

(II) àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS 
>Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

(II) Code number given on the right 

hand side of the question paper 

should be written on the title page of 

the answer-book by the candidate. 

(III) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _|  
>42 àíZ h¢ & 

(III) Please check that this question 

paper contains 42 questions. 

(IV) H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go 
nhbo, CÎma-nwpñVH$m _| àíZ H$m H«$_m§H$ 
Adí` {bI| & 

(IV) Please write down the Serial 

Number of the question in the 

answer-book before attempting it. 

(V) Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m 
g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU 
nydm©• _| 10.15 ~Oo {H$`m OmEJm &   
10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db 
àíZ-nÌ H$mo n‹T>|Jo Am¡a Bg Ad{Y Ho$ Xm¡amZ 
do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

(V) 15 minute time has been allotted to 

read this question paper. The 

question paper  will  be  distributed 

 at 10.15 a.m. From 10.15 a.m. to 

10.30 a.m., the students will read the 

question paper only and will not 

write any answer on the  

answer-book during this period. 

gyMZm àm¡Úmo{JH$s 
INFORMATION TECHNOLOGY 

{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 60 

Time allowed : 3 hours Maximum Marks : 60  
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gm_mÝ` {ZX}e : 

{ZåZ{b{IV {ZX}em| H$mo ~hþV gmdYmZr go n{‹T>E Am¡a CZH$m g™Vr go nmbZ H$s{OE :  

(a) Bg àíZ-nÌ _| Xmo IÊS> h¢  IÊS> H$ … amoOJma H$m¡eb Am¡a IÊS> I … {df` H$m¡eb & 

(b) IÊS> H$ … amoOJma H$m¡eb (10 A§H$) 
(i)  {XE JE 6 àíZm| _| go {H$Ýht 4 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 1 A§H$ H$m h¡ & 
(ii)  {XE JE 5 àíZm| _| go {H$Ýht 3 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 2 A§H$ H$m h¡ & 

(c) IÊS> I … {df` H$m¡eb (50 A§H$) 
(i)  {XE JE 12 àíZm| _| go {H$Ýht 10 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 1 A§H$ H$m h¡ & 
(ii)  {XE JE 7 àíZm| _| go {H$Ýht 5 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 2 A§H$ H$m h¡ & 
(iii)  {XE JE 7 àíZm| _| go {H$Ýht 5 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 3 A§H$ H$m h¡ & 
(iv)  {XE JE 5 àíZm| _| go {H$Ýht 3 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 5 A§H$ H$m h¡ & 

(d) Bg àíZ-nÌ _| 42 àíZ em{_b h¢ {OZ_| go 30 àíZm| Ho$ CÎma XoZo h¢ & 

(e) g^r àíZm| Ho$ {deof ^mJ /IÊS> H$mo ghr H«$_ _| H$s{OE &   

(f) A{YH$V_ g_` 3 K§Q>o h¡ & 

IÊS> H$ 

 (amoOJma H$m¡eb) 10 A§H$  

{XE JE 6 àíZm| ‘| go {H$Ýht 4 àíZm| Ho$ CÎma Xr{OE & àË¶oH$ àíZ 1 A§H$ H$m h¡ & 14=4 

1. g§Mma Ho$ Xmo àH$ma hmoVo h¢ ________ Am¡a µJ¡a-_m¡{IH$ & 1 

2. AmË_m H$s ^mfm H$m¡Z-gr h¡ ? 1 

(A) {H$Vm~| 

(B) J{V{d{Y`m± 

(C) gnZm 

(D)  g§JrV 

3. ñd-ào[aV bmoJ D±$Mm ^md aIVo h¢ Am¡a gH$mamË_H$Vm go ^ao hmoVo h¢ & (ghr/µJbV) 1 

4. ________ _| dh ~Q>Z em{_b hmoVo h¢ Omo {H$ \$m°_}qQ>J H$_mÊS> Ho$ {bE gm_mÝ`V… Cn`moJ 

hmoVo h¢ & 1 



 

 .326/D 3 P.T.O. 

General Instructions : 

Read the following instructions very carefully and strictly follow them : 

(a) This question paper consists of two parts viz. Section A : Employability 

Skills and Section B : Subject Skills.  

(b) Section A : Employability Skills (10 Marks) 

 (i) Answer any 4 questions out of the given 6 questions of 1 mark each. 

 (ii) Answer any 3 questions out of the given 5 questions of 2 marks each. 

(c) Section B : Subject Skills (50 Marks) 

 (i) Answer any 10 questions out of the given 12 questions of 1 mark each. 

 (ii) Answer any 5 questions out of the given 7 questions of 2 marks each. 

 (iii) Answer any 5 questions out of the given 7 questions of 3 marks each. 

 (iv) Answer any 3 questions out of the given 5 questions of 5 marks each. 

(d) This question paper contains 42 questions out of which 30 questions are to 

be answered. 

(e) All questions of a particular part/section must be attempted in the correct 

order. 

(f) The maximum time allowed is 3 hours. 

SECTION A 

 (Employability Skills) 10 Marks  

Answer any 4 questions out of the given 6 questions of 1 mark each. 14=4 

1. There are two types of communication ________ and non-verbal. 1 

2. Which is the language of the soul ?  1 

(A) Books 

(B) Activities  

(C) Dreaming  

(D) Music 

3. Self-motivated people have elevated spirit and full of positivity. 

(True/False) 1 

4. ________ contains the buttons for the commonly used formatting 

commands. 1 
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5. ________ EH$ Eogr à{H«$`m h¡ Omo aMZmË_H$ {dMmam| H$mo Cn`moJr dmñV{dH$VmAm| _| ~Xb 
XoVr h¡ & 1 

(A) ZdmMma 
(B) aMZmË_H$Vm 
(C) gVH©$Vm 
(D)  J{VerbVm  

6. h[aV n`©Q>Z Ho$ VhV H$m¡Z-gm Xoe AmVm h¡ ? 1 

(A) ^maV 
(B) B§S>moZo{e`m 
(C) ^yQ>mZ 
(D)  Zonmb 

{XE JE 5 àíZm| ‘| go {H$Ýht 3 àíZm| Ho$ CÎma Xr{OE & àË¶oH$ àíZ 2 A§H$ H$m h¡ & 23=6 

7. ‘‘O{Q>b dmŠ`’’ H$mo n[a^m{fV H$s{OE & 2 

8. A{^àoaU Am¡a A§V:àoaUm Ho$ Hw$N> òmoVm| Ho$ Zm_ ~VmBE & 2 

9. ‘‘ñnrH$a ZmoQ>’’ Š`m h¡ ? 2 

10. aMZmË_H$Vm Š`m hmoVr h¡ ? 2 

11. ndZ/gm¡a D$Om© B§Or{Z`a H$m¡Z hmoVm h¡ ? 2 

IÊS> I 

 ({df¶ H$m¡eb) 50 A§H$  

{XE JE 12 àíZm| ‘| go {H$Ýht 10 àíZm| Ho$ CÎma Xr{OE & àË¶oH$ àíZ 1 A§H$ H$m h¡ & 110=10 

12. DBA H$m nyam Zm_ ________ hmoVm h¡ & 1 

13. n§{º$ H$mo ________ ^r H$hm OmVm h¡ & 1 

(A) EQ´>rã`yQ>  
(B) [aboeZ 
(C) Q>nb 
(D)  {S>J«r 
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5. ________ is a process that transforms creative ideas into useful realities.  1 

(A) Innovation  

(B) Creativity 

(C) Alertness  

(D) Dynamism  

6. Which country comes under green tourism ? 1 

(A) India 

(B) Indonesia 

(C) Bhutan 

(D) Nepal 

 

Answer any 3 questions out of the given 5 questions of 2 marks each. 23=6 

7. Define ‘‘Complex sentence’’. 2 

8. Name some sources of motivation and inspiration.  2 

9. What is ‘‘Speaker Note’’ ? 2 

10. What is creativity ? 2 

11. Who is a Wind/Solar energy engineer ? 2 

 

SECTION B 

  (Subject Skills) 50 Marks 

  

Answer any 10 questions out of the given 12 questions of 1 mark each. 110=10 

12. Full form of DBA is ________.  1 

13. A row is also called a/an ________. 1 

(A) attribute 

(B) relation 

(C) tuple 

(D) degree 
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14. {H$gr [aboeZ _| n§{º$`m| H$s g§»`m H$mo {H$gr [aboeZ H$s/H$m ________ H$hm OmVm h¡ & 1 

(A) {S>J«r 
(B) H$m{S>©Z¡{bQ>r 
(C) Q>nb 
(D)  [aboeZ 

15. NeDP H$m nyam Zm_ ________ hmoVm h¡ & 1 

16. {ZåZ{b{IV _| go H$m¡Z Båßbr_|Q>oeZ \o$O H$m EH$ nmQ>© ({hñgm) Zht  h¡ ? 1 

(A) ~¡H$-EÝS> S>oQ>m~og 
(B) \«§$Q>-EÝS> 
(C) S>oQ>m H$ZoŠQ>r{dQ>r 
(D)  BZ_| go H$moB© Zht  

17. {ZåZ{b{IV _| go H$m¡Z-gm SQL _| EH$ bm°{OH$b Am°naoQ>a H$m àH$ma Zht  h¡ ? 1 

(A) AND 

(B) BETWEEN  

(C) OR 

(D)  NOT 

18. EH$ ________ byn EH$ `m A{YH$ bmBZm| H$mo H$_-go-H$_ EH$ ~ma aZ ({H«$`mpÝdV) µOê$a 
H$aVm h¡ & 1 

19. {ZåZ{b{IV _| go H$m¡Z-gm Omdm H$s H$_oÝQ> H$m àH$ma Zht  h¡ ? 1 

(A) // 

(B) /* Am¡a */ 

(C) /* 

(D)  /+ Am¡a +/ 

20. àmoJ«mq_J _| ha Am°ãOoŠQ> H$m Zm_ hmoVm h¡ & (ghr/µJbV) 1 

21. {ZåZ{b{IV _| go H$m¡Z-gm EH$ Am°ãOoŠQ> H$m d¡Y Zm_ h¡ ? 1 

(A) Obj1 

(B) 1Obj 

(C) Obj name 

(D)  While 
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14. The number of rows in a relation is called the ________ of a relation.  1 

(A) degree 

(B) cardinality  

(C) tuple 

(D)  relation 

15. Full form of NeDP is ________. 1 

16. Which of the following is not a part of Implementation Phase ?  1 

(A) Back-end database 

(B) Front-end 

(C) Data connectivity 

(D)  None of these  

17. Which of the following is not a type of logical operator used in SQL ? 1 

(A) AND 

(B) BETWEEN 

(C) OR 

(D)  NOT 

18. A ________ loop runs one or more lines but at least once. 1 

19. Which of the following is not a type of comment in Java ?  1 

(A) // 

(B) /* and */ 

(C) /* 

(D)  /+ and +/ 

20. In programming, every object will have a name. (True/False) 1 

21. Which among the following is a valid object name ? 1 

(A) Obj1 

(B) 1Obj 

(C) Obj name 

(D)  While 
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22. .jar \$mBb ~ZmZo Ho$ {bE Amn {H$g gm°âQ>doAa H$m Cn`moJ H$a|Jo ? 1 

(A) Antivirus 

(B) MySQL 

(C) MS Word 

(D)  Net Beans 

23. h_ Omdm àmoJ«m_ H$mo {S>~J H$a gH$Vo h¢ & (ghr/µJbV)  1 

{XE JE 7 àíZm| ‘| go {H$Ýht 5 àíZm| Ho$ CÎma Xr{OE & àË¶oH$ àíZ 2 A§H$ H$m h¡ & 25=10 

24. Ama.S>r.~r.E_.Eg. Š`m hmoVm h¡ ? 2 

25. S>oQ>m A{VaoH$/S>oQ>m [aS>§S>|gr Š`m hmoVm h¡ ? 2 

26. Eg.Š`y.Eb. go AmnH$m Š`m A{^àm` h¡ ? 2 

27. do~ EopßbHo$eZ ~ZmZo Ho$ {d{^Þ MaUm| Ho$ Zm_ {b{IE & 2 

28. Bg àíZ _| {XE JE H$moS> Ho$ ~mX Ma m H$m Š`m _mZ hmoJm ? 2 

 _mZ br{OE : int K = 4, m = 0;  

  if (K > 4) 

  { 

     m = 3; 

  }    

29. B©-H$m°_g© _| S>oQ>m~og Ho$ {H$Ýht Xmo Cn`moJm| H$mo {b{IE & 2 

30. {ZåZ{b{IV Vm{bH$m ~ZmVo g_` Amn H$m°b_ Ho$ {bE {H$g àH$ma H$m S>oQ>mQ>mBn MwZ|Jo ? 2  

Name Datatype 

ENROLLMENT  

SNAME  

DATE_OF_ADM  

FEE  

{XE JE 7 àíZm| ‘| go {H$Ýht 5 àíZm| Ho$ CÎma Xr{OE & àË¶oH$ àíZ 3 A§H$ H$m h¡ & 35=15 

31. {H$Ýht VrZ EJ«rJoQ> \§$ŠeÝg H$mo CXmhaU g{hV g_PmBE & 3 

32. do~ EopßbHo$eZ Š`m h¡ ? g_PmBE & 3 

33. Am°ZbmBZ [aOd}eZ {gñQ>_ _| Cn^moº$m Ho$ {bE H$moB© VrZ \$m`Xo {b{IE & 3 
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22. Which software will you use to make a .jar file ? 1 

(A) Antivirus 

(B) MySQL 

(C) MS Word 

(D)  Net Beans 

23. We can debug Java program. (True/False) 1 

Answer any 5 questions out of the given 7 questions of 2 marks each. 25=10 

24. What is RDBMS ? 2 

25. What is Data Redundancy ? 2 

26. What do you mean by SQL ? 2 

27. Write the name of different phases of making a web application.  2 

28. What is the value of the variable m after the code in this question ? 2 

 Assume : int K = 4, m = 0; 

  if (K > 4) 

  { 

     m = 3; 

  } 

29. Write any two uses of database in E-Commerce.  2 

30. What datatype would you choose for the columns while creating the 

following table : 2 

Name Data type 

ENROLLMENT  

SNAME  

DATE_OF_ADM  

FEE  

Answer any 5 questions out of the given 7 questions of 3 marks each. 35=15 

31. Explain any three aggregate functions with example.  3 

32. What is web application ? Explain.  3 

33. Write any three advantages for consumer in an online reservation 

system.  3 
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34. W«oS> Š`m h¡ ? g_PmBE & 3 

35. Sy>-ìhmBb byn H$m Cn`moJ H$aVo hþE 1 go 10 VH$ H$s g§»`mAm| Ho$ dJ© H$mo {àÝQ> H$aZo Ho$ 
{bE àmoJ«m_ {b{IE & 3 

36. N>h {d{^Þ àH$ma Ho$ [aboeZb Am°naoQ>g© H$mo CXmhaU g{hV g_PmBE & 3 

37. hmoQ>b _| S>oQ>m~og Ho$ {H$Ýht VrZ Cn`moJm| H$mo {b{IE & 3 

{XE JE 5 àíZm| ‘| go {H$Ýht 3 àíZm| Ho$ CÎma Xr{OE & àË¶oH$ àíZ 5 A§H$ H$m h¡ & 53=15 

38. {ZåZ{b{IV na {dMma H$s{OE Am¡a àíZm| Ho$ CÎma Xr{OE :  1+1+1+1+1=5  

(a) {ZåZ{b{IV Vm{bH$m ~ZmZo Ho$ {bE Šd¡ar {b{IE, {OgH$m Zm_ ‘‘ñQy>S>|Q>’’ h¡ : 

EnrollNo. Integer Primary key 

StudentName Varchar (20)  

FName Varchar (25)  

RollNo Integer  

Percentage Decimal (5, 2)  

(b) {ZåZ{b{IV H$m°ÝQ>|Q> Ho$ gmW ‘‘Student’’ Vm{bH$m _| Z`m amo Omo‹S>Zo Ho$ {bE Šd¡ar 
{b{IE :    

 (9005, ‘‘Rajesh Mehta’’, ‘‘Ranjeet Mehta’’, 1009, 65·38)  

(c) Student name, ‘‘Rajesh Mehta’’ Ho$ aoH$mS>© (amo) H$mo delete H$aZo Ho$ {bE 
Šd¡ar {b{IE & 

(d)  FName ‘‘Ranjeet Mehta’’ go ‘‘Ranjit Mehta’’ H$aZo Ho$ {bE Šd¡ar {b{IE & 

(e) ‘‘Student’’ Vm{bH$m H$mo {S>brQ> H$aZo Ho$ {bE Šd¡ar {b{IE &  

39. Am°ZbmBZ ˜arXmar Ho$ {bE nm±M _w»` MaU {b{IE & 5 

40. àmoOoŠQ> H$s nm±M _w»` {deofVmE± {b{IE & 5 

41. ìhmBb-byn VWm Sy>-ìhmBb byn _| A§Va ñnï> H$s{OE & C{MV CXmhaU H$s ghm`Vm go Bg 
A§Va H$s nw{ï> H$s{OE & 5 

42. ‘‘If-else’’ H$WZ H$mo {gÝQ>oŠg Am¡a CXmhaU g{hV g_PmBE & 2+1
2

1
+1

2

1
=5 
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34. What is Thread ? Explain. 3 

35. Write a program to print the square of numbers from 1 to 10 using a  

do-while loop.  3 

36. Explain six different types of relational operations along with example.  3 

37. Write any three uses of database in Hotel.  3 

Answer any 3 questions out of the given 5 questions of 5 marks each. 53=15 

38. Consider the following and answer the questions : 1+1+1+1+1=5  

(a) Write a query to create the following table ‘‘Student’’ with following 

columns : 

EnrollNo. Integer Primary key 

StudentName Varchar (20)  

FName Varchar (25)  

RollNo Integer  

Percentage Decimal (5, 2)  

(b) Write a query to add a new row in the ‘‘Student’’ table with the 

following contents :  

 (9005, ‘‘Rajesh Mehta’’, ‘‘Ranjeet Mehta’’, 1009, 65·38)  

(c) Write a query to delete a row with student name is ‘‘Rajesh 

Mehta’’.  

(d) Write a query to modify FName ‘‘Ranjeet Mehta’’ to ‘‘Ranjit Mehta’’. 

(e)  Write a query for delete ‘‘Student’’ table.   

39. Write down five main steps for online shopping.  5 

40. Write down five key characteristics of project.  5 

41. Differentiate between while-loop and do-while loop. Support the 

difference with the help of a suitable example.  5 

42. Explain ‘‘If-else’’ statement alongwith syntax and example.  2+1
2

1
+1

2

1
=5 

 


